
O(n^5.), O(n^30), and O(n^100).& G ( n ) is intersecting with f ( n ). So you will get some
complex function Alright so this is the solution to the problem So. What we have done is WE
have taken a big function and we have made it so that it is always below the original function
and that's what [UNK] means THe definition of [UNK] for a function. F(n) is the largest value
of G(n) that is bigger than f(n)..

Best Case, Worst Case and Average Case Analysis of an Algorithm (With Notes)
CodeWithHarry
K is an integer ) SO now I 'll write it like this K n ( K is an integer ) So now I 'll write it Like this
K n ( K is an integer ) So now I 'll write it like this. K n ( K is an integer ) And now what will
happen? The value of 'k ' will become very large And so 2n will be going down. The graph of
( n^2+n ) ; graph of n ; graph of ( N^2+n ) will go below 2n. THe Average Case Complexity
for a given algorithm is the time it takes to run through all possible cases, divided by the total
number of possibilities..?" This passage discusses Algo 2, which is a cunning person who is
smart. Birbal. Algo 2 says that he will not make useless comparisons, and provides an
example. An example of how he does this.. Algo 2 first takes the first and last element of an
array, and then compares them. IF. They match, Algo 2 is good; if they don't match., Algo 2
will find the mid--point of the array and be okay..

The stack do at a particular time point?? SO. The stack will have a value of factorial 3 at a
particular time point. SO it will go up to factorial 4 at that point in time, And then it will go
back down to factorial 3. OKay? And that is how the space complexity works for a function
when it calls itself recursively.. algorithm will take time X on a computer with processor Y. I
can only say that the algorithm will take time y on a computer with processor X. SO. In this
particular case,, my algorithm is running in 2 seconds on my computer with an i9 processor.
But. It might run in 10 seconds on a computer with an i7 processor. SO that is why I say the
space complexity is O ( N ). The passage. space complexity is O ( n ). The passage
discusses the space complexity of the factorial function. IT states that the space complexity
of the algorithm is O ( N ), where n is the size of the input.. THe space complexity is
measured in stack frames, and it is observed that no matter how large an input's factorial,
there will be a corresponding number of activation records.. This means that at any given
time, the algorithm will be able to fit in a maximum of three stack frames.. This passage
provides insights into the algorithm's computation complexity.. The algorithm calculates in 10
seconds, and as input grows, so does the time it takes to calculate. This is why the algorithm
measures growth in terms of asymptotic analysis..

To be continued…
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